2017 ASPHALT OVERLAY PROJECT RFB No. 17-003 BID OPENING DATE FEBRUARY 22, 2017

	1		-	Bid 1		id 2		3id 3	Bid	4 1	F.	ngineer
Vendor Name>					Miles Resource		Tucci and Son		ICON Materials			igineer stimate
Location>				gton, WA	Puyallup, WA	3, LLO	Tacoma, WA	3, 1110.	Tukwila, WA			timate
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
SCHEDULE A - 10TH AVE SW (SW CAMPUS DR TO 7TH CT SW)												
1 Mobilization	1	LS	\$65,000.00	\$65,000.00	\$42,850.00	\$42,850.00	\$29,000.00	\$29,000.00	\$90,000.00	\$90,000.00	\$33,648.35	\$33,648.35
2 Traffic Control Labor	800	HR	\$50.00	\$40,000.00	\$50.00	\$40,000.00	\$50.00	\$40,000.00	\$50.00	\$40,000.00	\$50.00	\$40,000.00
3 Other Traffic Control Labor	50	HR	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00
4 Off Duty Uniformed Police Officer	56	HR	\$67.00	\$3,752.00	\$67.00	\$3,752.00	\$67.00	\$3,752.00	\$67.00	\$3,752.00	\$67.00	\$3,752.00
5 Asphalt/Cement Concrete Sawcutting	3352	LF	\$0.01	\$33.52	\$0.01	\$33.52	\$0.01	\$33.52	\$1.75	\$5,866.00	\$0.01	\$33.52
6 Roadway Excavation Incl. Haul	252	CY	\$75.00	\$18,900.00	\$60.00	\$15,120.00	\$106.00	\$26,712.00	\$110.00	\$27,720.00	\$105.00	\$26,460.00
7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul	350 400	SY TN	\$0.10 \$10.00	\$35.00 \$4,000.00	\$1.50 \$25.00	\$525.00 \$10,000.00	\$0.50 \$16.00	\$175.00 \$6,400.00	\$2.25 \$25.00	\$787.50 \$10,000.00	\$0.50 \$20.00	\$175.00 \$8,000.00
9 Planing of Bituminous Pavement	8660	SY	\$3.00	\$25,980.00	\$3.45	\$10,000.00	\$5.15	\$44.599.00	\$5.50	\$47.630.00	\$3.50	\$30,310.00
10 HMA Class 1/2" PG 64-22	1995	TN	\$75.00	\$149,625.00	\$66.00	\$131,670.00	\$74.00	\$147,630.00	\$78.00	\$155,610.00	\$70.00	\$139,650.00
11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway	350	TN	\$100.00	\$35,000.00	\$157.00	\$54,950.00	\$133.00	\$46,550.00	\$115.00	\$40,250.00	\$115.00	\$40,250.00
12 HMA Class 1/2" PG 64-22 for Preleveling	25	TN	\$75.00	\$1,875.00	\$66.00	\$1,650.00	\$74.00	\$1,850.00	\$78.00	\$1,950.00	\$75.00	\$1,875.00
13 Adjust Manhole	4	EA	\$525.00	\$2,100.00	\$935.00	\$3,740.00	\$920.00	\$3,680.00	\$1,000.00	\$4,000.00	\$560.00	\$2,240.00
14 Adjust Catchbasin	1	EA	\$525.00	\$525.00	\$580.00	\$580.00	\$920.00	\$920.00	\$1,000.00	\$1,000.00	\$560.00	\$560.00
15 Adjust Existing Monument Case & Cover	8	EA	\$425.00	\$3,400.00	\$470.00	\$3,760.00	\$460.00	\$3,680.00	\$800.00	\$6,400.00	\$400.00	\$3,200.00
16 Removal and Replacement of Concrete Curb and Gutter	50	LF	\$56.15	\$2,807.50	\$80.00	\$4,000.00	\$91.00	\$4,550.00	\$80.00	\$4,000.00	\$65.00	\$3,250.00
17 Raised Pavement Marker, Type 2	4	HUND	\$475.00	\$1,900.00	\$525.00	\$2,100.00	\$400.00	\$1,600.00	\$475.00	\$1,900.00	\$450.00	\$1,800.00
18 Hydrant Marker, Type 2B	5	EA	\$20.00	\$100.00	\$30.00	\$150.00	\$10.00	\$50.00	\$20.00	\$100.00	\$20.00	\$100.00
19 Detector Loops 20 Profiled Plastic Line	7 13932	EA LF	\$600.00 \$1.50	\$4,200.00 \$20,898.00	\$900.00 \$1.65	\$6,300.00 \$22,987.80	\$600.00 \$1.75	\$4,200.00 \$24,381.00	\$800.00 \$1.50	\$5,600.00 \$20,898.00	\$600.00 \$1.50	\$4,200.00 \$20,898.00
21 Profiled Plastic Line 21 Profiled Plastic Wide Line	100	LF	\$4.50	\$450.00	\$5.00	\$500.00	\$5.50	\$550.00	\$4.50	\$450.00	\$5.00	\$500.00
22 Plastic Stop Line	26	LF	\$6.50	\$169.00	\$7.15	\$185.90	\$10.00	\$260.00	\$6.50	\$169.00	\$5.00	\$130.00
23 Plastic Traffic Arrow	30	EA	\$125.00	\$3,750.00	\$140.00	\$4,200.00	\$85.00	\$2,550.00	\$125.00	\$3,750.00	\$100.00	\$3,000.00
24 Plastic Shared Lane Marking	8	EA	\$185.00	\$1,480.00	\$200.00	\$1,600.00	\$125.00	\$1,000.00	\$185.00	\$1,480.00	\$150.00	\$1,200.00
25 Portable Changeable Message Sign	32	DAY	\$75.00	\$2,400.00	\$94.00	\$3,008.00	\$80.00	\$2,560.00	\$82.00	\$2,624.00	\$75.00	\$2,400.00
Subtotal Schedule A				\$390,880.02		\$386,039.22		\$399,182.52		\$478,436.50		\$370,131.87
SCHEDULE B - HOYT RD SW (SW 332ND ST TO CITY LIMIT)												
1 Mobilization	900	LS HR	\$73,000.00	\$73,000.00	\$56,900.00	\$56,900.00	\$40,000.00	\$40,000.00	\$90,000.00	\$90,000.00	\$57,871.66	
2 Traffic Control Labor	900				AFO 00	\$45,000,00	AFO 00	\$45,000,00	ΦΕ0.00			\$57,871.66
	100		\$50.00	\$45,000.00	\$50.00	\$45,000.00	\$50.00	\$45,000.00	\$50.00	\$45,000.00	\$50.00	\$45,000.00
3 Other Traffic Control Labor	100	HR	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$45,000.00 \$5,000.00	\$50.00 \$50.00	\$45,000.00 \$5,000.00
4 Off Duty Uniformed Police Officer	80	HR HR	\$50.00 \$67.00	\$5,000.00 \$5,360.00	\$50.00 \$67.00	\$5,000.00 \$5,360.00	\$50.00 \$67.00	\$5,000.00 \$5,360.00	\$50.00 \$67.00	\$45,000.00 \$5,000.00 \$5,360.00	\$50.00 \$50.00 \$67.00	\$45,000.00 \$5,000.00 \$5,360.00
Off Duty Uniformed Police Officer Asphalt/Cement Concrete Sawcutting		HR	\$50.00	\$5,000.00 \$5,360.00 \$122.38	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$45,000.00 \$5,000.00	\$50.00 \$50.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38
4 Off Duty Uniformed Police Officer	80 12238	HR HR LF	\$50.00 \$67.00 \$0.01	\$5,000.00 \$5,360.00	\$50.00 \$67.00 \$0.01	\$5,000.00 \$5,360.00 \$122.38	\$50.00 \$67.00 \$0.01	\$5,000.00 \$5,360.00 \$122.38	\$50.00 \$67.00 \$1.75	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50	\$50.00 \$50.00 \$67.00 \$0.01	\$45,000.00 \$5,000.00 \$5,360.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul	80 12238 449	HR HR LF CY	\$50.00 \$67.00 \$0.01 \$85.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00	\$50.00 \$67.00 \$0.01 \$60.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00	\$50.00 \$67.00 \$0.01 \$99.00	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00	\$50.00 \$67.00 \$1.75 \$110.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00
Off Duty Uniformed Police Officer Asphalt/Cement Concrete Sawcutting Roadway Excavation Incl. Haul Construction Geosynthetic for Separation SCSTC for Pavement Repair & Roadway Widening, Incl. Haul Planing of Bituminous Pavement	80 12238 449 350 350 10632	HR HR LF CY SY TN SY	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$3,500.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00 \$175.00 \$5,600.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$0.50 \$20.00 \$3.50	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$37,212.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22	80 12238 449 350 350 10632 2825	HR HR LF CY SY TN SY TN	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00 \$75.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$3,500.00 \$211,875.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$0.50 \$20.00 \$3.50 \$70.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway	80 12238 449 350 350 10632 2825 922	HR HR LF CY SY TN SY TN TN	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00 \$75.00 \$100.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$92,200.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$120,782.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$0.50 \$20.00 \$3.50 \$70.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$106,030.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling	80 12238 449 350 350 10632 2825 922 25	HR HR CY SY TN SY TN TN TN	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00 \$75.00 \$75.00	\$5,000.00 \$5,360.00 \$12.23 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$1,875.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$120,782.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00	\$5,000.00 \$5,360.00 \$1223 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$220,350.00 \$106,030.00 \$1,950.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$0.50 \$20.00 \$3.50 \$70.00 \$115.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$106,030.00 \$1,875.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 IHMA Class 1/2" PG 64-22 11 IHMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 IHMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover	80 12238 449 350 350 10632 2825 922 25 5	HR HR LF CY SY TN SY TN TN TN EA	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$75.00 \$75.00 \$425.00	\$5,000.00 \$5,360.00 \$1223 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$11,875.00 \$2,200.00 \$2,125.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$120,782.00 \$1,725.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$460.00	\$5,000.00 \$5,360.00 \$122.38 \$444,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$78.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$20,350.00 \$106,030.00 \$1,950.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$0.50 \$20.00 \$3.50 \$70.00 \$115.00 \$75.00	\$45,000.00 \$5,000.00 \$5,360.00 \$12.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$106,030.00 \$1,875.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal	80 12238 449 350 350 10632 2825 922 25 5	HR HR LF CY SY TN SY TN TN TN EA EA	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$92,200.00 \$1,875.00 \$2,125.00 \$2,125.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$470.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$1,725.00 \$2,350.00	\$50.00 \$67.00 \$9.00 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$63.50 \$460.00	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00	\$50.00 \$67.00 \$1.75 \$11.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$76.00 \$800.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00 \$1,950.00 \$4,000.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$70.00 \$115.00 \$75.00 \$350.00 \$2,500.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$106,030.00 \$1,875.00 \$1,750.00 \$1,750.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1	80 12238 449 350 350 10632 2825 922 25 5 1	HR HR LF CY SY TN TN TN TN EA EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35,500.00 \$31,896.00 \$211,875.00 \$92,200.00 \$1,875.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,124.03	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$470.00 \$2,000.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$1,725.00 \$2,350.00 \$2,200.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$63.50 \$2,600.00 \$41.00	\$5,000.00 \$5,360.00 \$122.38 \$44,451.00 \$175.00 \$37,212.00 \$179.387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$2,600.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$80.00 \$2,600.00	\$45,000.00 \$5,000.00 \$5,000.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00 \$1,950.00 \$2,600.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$770.00 \$115.00 \$75.00 \$25,00.00 \$25,00.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,875.00 \$1,750.00 \$1,750.00 \$1,950.00 \$1,9695.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section	80 12238 449 350 350 10632 2825 922 25 5 1 303 1	HR HR LF CY SY TN TN TN TN EA EA LF EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$75.00 \$425.00 \$2,546.33 \$40.18	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$11,875.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,263.19	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$470.00 \$2,000.00 \$2,000.00	\$5,000.00 \$5,360.00 \$12.23 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$120,782.00 \$1,725.00 \$2,000.00 \$2,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$100.00 \$63.50 \$460.00 \$2,600.00 \$2,300.00	\$5,000.00 \$5,360.00 \$12.23 \$44,451.00 \$175.00 \$5,600.00 \$17,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$2,300.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$106,030.00 \$1950.00 \$4,000.00 \$2,600.00 \$1,2423.00 \$2,300.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$770.00 \$115.00 \$75.00 \$2,500.00 \$2,500.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,875.00 \$1,750.00 \$1,950.00 \$2,500.00 \$19,695.00 \$2,300.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 IHMA Class 1/2" PG 64-22 11 IHMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 IHMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb	80 12238 449 350 350 10632 2825 922 25 5 1 303 1	HR HR LF CY SY TN SY TN TN TN EA EA LF EA	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00 \$75.00 \$100.00 \$2,546.33 \$40.18 \$2,263.19	\$5,000.00 \$5,360.00 \$12.23 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$92,200.00 \$1,875.00 \$2,125.00 \$2,125.00 \$2,125.46.33 \$12,174.54 \$2,263.19	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$470.00 \$2,000.00 \$2,000.00 \$2,000.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$146,249.20 \$194,925.00 \$120,782.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$40.00 \$44.00 \$2,300.00 \$36.00	\$5,000.00 \$5,360.00 \$12,23 \$44,451.00 \$1,75.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00.00 \$2,300.00 \$2,300.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$2,300.00 \$70.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$8,750.00 \$58,476.00 \$220,350.00 \$1,950.00 \$4,000.00 \$2,600.00 \$2,300.00 \$2,300.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$220.00 \$3.50 \$115.00 \$75.00 \$350.00 \$250.00 \$350.00 \$115.00 \$115.00 \$115.00 \$115.00 \$115.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$197,750.00 \$196,030.00 \$1,875.00 \$1,750.00 \$2,500.00 \$19,695.00 \$2,300.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 IHMA Class 1/2" PG 64-22 11 IHMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 IHMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Dual Sloped Mountable	80 12238 449 350 350 10632 2825 922 25 5 1 303 1	HR HR LF CY SY TN SY TN TN TN EA EA LF LF	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$75.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00	\$5,000.00 \$5,360.00 \$12.23 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,200.00 \$2,125.00 \$2,125.00 \$2,546.33 \$12,174.54 \$2,263.19 \$550.00 \$9,040.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$470.00 \$2,000.00 \$2,000.00 \$35.00 \$35.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$120,782.00 \$2,350.00 \$2,000.00 \$15,150.00 \$2,000.00 \$7,910.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$40.00 \$2,600.00 \$41.00 \$2,300.00 \$36.00	\$5,000.00 \$5,360.00 \$1223 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$2,600.00 \$12,423.00 \$360.00 \$8,136.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00 \$77.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$106,030.00 \$1,950.00 \$4,000.00 \$12,423.00 \$2,300.00 \$700.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$70.00 \$115.00 \$350.00 \$2,500.00 \$2,500.00 \$2,300.00 \$100.00 \$100.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,875.00 \$1,750.00 \$2,500.00 \$1,9695.00 \$2,300.00 \$1,000.00 \$1,000.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 IHMA Class 1/2" PG 64-22 11 IHMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 IHMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Deam Guardrail Flared Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Dual Sloped Mountable 19 Removal and Replacement Traffic Signal Island, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 303 1 10 226	HR HR LF CY SY TN SY TN TN TN EA EA LF EA LF LF LF	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00	\$5,000.00 \$5,360.00 \$1223 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$12,174.54 \$2,263.3 \$12,174.54 \$2,263.00 \$9,040.00 \$9,040.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$2,000.00 \$2,000.00 \$35.00 \$35.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$11,725.00 \$2,350.00 \$2,000.00 \$15,150.00 \$850.00 \$7,910.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$63.50 \$440.00 \$2,600.00 \$41.00 \$36.00 \$36.00	\$5,000.00 \$5,360.00 \$122.38 \$444,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$360.00 \$360.00 \$8,136.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00 \$30.00 \$4,400.00	\$45,000.00 \$5,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00 \$4,000.00 \$2,600.00 \$2,300.00 \$700.00 \$6,780.00 \$4,400.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$70.00 \$115.00 \$75.00 \$25.00 \$25.00 \$100.00 \$100.00 \$18.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,1750.00 \$1,1750.00 \$1,1750.00 \$2,500.00 \$1,9695.00 \$2,300.00 \$1,000.00 \$4,068.00 \$7,000.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Dual Sloped Mountable 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 303 1 10 226	HR HR LF CY SY TN SY TN TN TN EA EA LF LF	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00 \$8,75.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$3,500.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,264.33 \$12,174.54 \$2,263.19 \$550.00 \$9,040.00 \$8,750.00 \$6,000.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$50.00 \$35.00 \$15,000.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$146,249.20 \$1120,782.00 \$1,725.00 \$2,350.00 \$2,350.00 \$15,150.00 \$7,910.00 \$7,910.00 \$15,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$40.00 \$2,600.00 \$36.00 \$36.00 \$36.00 \$36.00 \$12,000.00 \$11,000.00	\$5,000.00 \$5,360.00 \$1223 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$360.00 \$31,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00	\$50.00 \$67.00 \$11.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$80.00 \$2,600.00 \$411.00 \$2,300.00 \$30.00 \$4,400.00 \$5,000.00	\$45,000.00 \$5,000.00 \$5,000.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$106,030.00 \$1,950.00 \$4,000.00 \$22,350.00 \$1,2423.00 \$700.00 \$6,780.00 \$4,400.00 \$5,000.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$770.00 \$115.00 \$75.00 \$2,500.00 \$65.00 \$100.00 \$1,000.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$37,212.00 \$197,750.00 \$106,030.00 \$1,875.00 \$2,500.00 \$1,9695.00 \$2,300.00 \$1,000.00 \$4,068.00 \$7,000.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Dual Sloped Mountable 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 303 1 10 226 1	HR HR LF CY SY TN SY TN TN TN EA LF EA LF LF LS EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00	\$5,000.00 \$5,360.00 \$1223 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$12,174.54 \$2,263.3 \$12,174.54 \$2,263.00 \$9,040.00 \$9,040.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$2,000.00 \$2,000.00 \$35.00 \$35.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$11,725.00 \$2,350.00 \$2,000.00 \$15,150.00 \$850.00 \$7,910.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$63.50 \$440.00 \$2,600.00 \$41.00 \$36.00 \$36.00	\$5,000.00 \$5,360.00 \$122.38 \$444,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$360.00 \$360.00 \$8,136.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00 \$30.00 \$4,400.00	\$45,000.00 \$5,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00 \$4,000.00 \$2,600.00 \$2,300.00 \$700.00 \$6,780.00 \$4,400.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$70.00 \$115.00 \$75.00 \$25.00 \$25.00 \$100.00 \$100.00 \$18.00	\$45,000.00 \$5,000.00 \$5,360.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,1750.00 \$1,1750.00 \$1,1750.00 \$2,500.00 \$1,9695.00 \$2,300.00 \$1,000.00 \$4,068.00 \$7,000.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 1 Parallel, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 303 1 10 226	HR HR LF CY SY TN SY TN TN TN EA EA LF EA LF LF LF LS EA EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00 \$8,750.00 \$41.35.00 \$41.35.00	\$5,000.00 \$5,360.00 \$12.38 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,125.00 \$2,263.19 \$550.00 \$9,040.00 \$8,750.00 \$4,135.00 \$4,135.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$470.00 \$2,000.00 \$2,000.00 \$35.00 \$15,000.00 \$15,000.00 \$4,600.00	\$5,000.00 \$5,360.00 \$12.23 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$120,782.00 \$120,782.00 \$2,000.00 \$2,000.00 \$2,000.00 \$7,910.00 \$15,000.00 \$5,000.00 \$46,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$100.00 \$63.50 \$460.00 \$2,600.00 \$36.00 \$2,000.00 \$36.00 \$	\$5,000.00 \$5,360.00 \$12,23 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$360.00 \$81,360.00 \$11,000.00 \$11,000.00 \$4,400.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00 \$44.00 \$5,500.00 \$4,400.00 \$5,000.00 \$4,700.00 \$6,100.00	\$45,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$8,750.00 \$8,750.00 \$106,030.00 \$1,950.00 \$4,000.00 \$2,300.00 \$700.00 \$6,780.00 \$4,400.00 \$5,000.00 \$1,400.00 \$1,400.00 \$2,300.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$22.00 \$3.50 \$770.00 \$115.00 \$75.00 \$2,500.00 \$2,500.00 \$100.00 \$100.00 \$7,000.00 \$3,000.00 \$3,000.00 \$2,300.00	\$45,000.00 \$5,000.00 \$5,000.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,875.00 \$1,875.00 \$1,875.00 \$2,500.00 \$2,500.00 \$1,000.00 \$4,068.00 \$7,000.00 \$6,000.00 \$3,325.00 \$11,855.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Tryp 1 16 Removal & Replacement of Beam Guardrail Tryp 1 16 Removal & Replacement of Deam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 1 Parallel, Complete 22 Cement Conc. Curb Ramp Type 2 Parallel, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 1 303 1 10 226 1 1	HR HR LF CY SY TN SY TN TN TN EA EA LF LF LF LS EA EA EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00 \$8,750.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$2,125.00 \$9,040.00 \$9,040.00 \$8,750.00 \$6,000.00 \$4,135.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$2,000.00 \$2,000.00 \$2,000.00 \$35.00 \$15,000.00 \$4,600.00 \$4,600.00 \$4,600.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$194,925.00 \$1,725.00 \$2,000.00 \$2,000.00 \$2,000.00 \$7,910.00 \$15,000.00 \$46,000.00 \$15,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$100.00 \$63.50 \$460.00 \$2,600.00 \$36.00 \$36.00 \$10,000.00 \$36.00	\$5,000.00 \$5,360.00 \$12.23 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$12,423.00 \$2,600.00 \$360.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,423.00 \$11,000.00 \$11,000.00 \$11,000.00 \$11,000.00 \$11,000.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$78.00 \$800.00 \$41.00 \$2,300.00 \$70.00 \$30.00 \$4,400.00 \$5,000.00	\$45,000.00 \$5,000.00 \$5,000.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$106,030.00 \$1,950.00 \$4,000.00 \$2,600.00 \$700.00 \$6,780.00 \$4,400.00 \$4,400.00 \$4,400.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$220.00 \$3.50 \$770.00 \$115.00 \$25.00 \$25.00 \$25.00 \$100.00 \$18.00 \$7,000.00 \$3,300 \$2,300.00 \$3,300 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00 \$3,300.00	\$45,000.00 \$5,000.00 \$5,000.00 \$122.33 \$47,145.00 \$175.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,0750.00 \$1,750.00 \$1,750.00 \$1,750.00 \$1,750.00 \$2,500.00 \$1,000.00 \$4,068.00 \$7,000.00 \$3,925.00 \$3,925.00 \$11,850.00 \$11,850.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement Traffic Signal Island, Complete 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 1 Parallel, Complete 22 Cement Conc. Curb Ramp Type Single Direction, Complete	80 12238 449 350 350 10632 2825 922 25 5 1 303 1 10 226 1 1 3	HR HR LF CY SY TN SY TN TN TN LEA LF LF LF LS EA LF LF LS EA EA EA	\$50.00 \$67.00 \$0.01 \$85.00 \$0.10 \$10.00 \$3.00 \$75.00 \$100.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$47.0	\$5,000.00 \$5,360.00 \$12.23 \$38,165.00 \$35.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,125.00 \$2,146.33 \$12,174.54 \$2,263.19 \$550.00 \$9,040.00 \$4,135.00 \$4,135.00 \$14,775.00 \$115,675.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$2,000.00 \$2,000.00 \$2,000.00 \$35.00 \$15,000.00 \$4,600.00 \$5,700.00 \$7,000.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$5,250.00 \$46,249.20 \$194,925.00 \$120,782.00 \$2,350.00 \$2,000.00 \$2,000.00 \$7,910.00 \$15,1500.00 \$4,600.00 \$15,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$40.00 \$2,600.00 \$2,600.00 \$2,000.00 \$12,000.00 \$12,000.00 \$4,400.00 \$4,400.00 \$4,600.00	\$5,000.00 \$5,360.00 \$12,23 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$2,300.00 \$1,587.50 \$2,300.00 \$2,300.00 \$12,423.00 \$360.00 \$12,423.00.00 \$4,400.00 \$16,500.00 \$20,400.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$800.00 \$2,600.00 \$41.00 \$2,300.00 \$44.00.00 \$4,400.00 \$5,000.00 \$4,700.00	\$45,000.00 \$5,000.00 \$5,000.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$106,030.00 \$1,950.00 \$4,000.00 \$2,600.00 \$2,300.00 \$6,780.00 \$4,400.00 \$4,400.00 \$2,500.00 \$4,700.00 \$5,000.00 \$2,500.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$770.00 \$115.00 \$75.00 \$25.00 \$25.00 \$25.00 \$25.00 \$38.00 \$	\$45,000.00 \$5,000.00 \$5,000.00 \$122.38 \$47,145.00 \$7,000.00 \$37,212.00 \$197,750.00 \$1,1750.00 \$1,1750.00 \$2,300.00 \$1,406.00 \$2,300.00 \$1,000.00 \$4,068.00 \$7,000.00 \$3,925.00 \$11,7750.00 \$11,7750.00 \$11,7750.00 \$1,00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 IHMA Class 1/2" PG 64-22 11 IHMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 IHMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Sloped Mountable Curb 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 2 Parallel, Complete 22 Cement Conc. Curb Ramp Type Single Direction, Complete 24 Raised Pavement Marker, Type 2	80 12238 449 350 350 10632 2825 922 25 5 1 1 10 226 1 1 1 3 3 3 3 3	HR HR LF CY SY TN SY TN TN TN EA LF EA LF EA LF EA LF LS EA EA HUND	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00 \$475.00 \$40.00 \$4	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35,500.00 \$3,500.00 \$31,896.00 \$211,875.00 \$2,125.00 \$2,145.00 \$2,263.19 \$550.00 \$8,750.00 \$8,750.00 \$4,135.00 \$14,775.00 \$11,875.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$2,000.00 \$35.00 \$15,000.00 \$4,600.00 \$7,000.00 \$7,000.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$140,492.00 \$1120,782.00 \$1,725.00 \$2,350.00 \$2,000.00 \$5,000.00 \$7,910.00 \$15,150.00.00 \$7,910.00 \$15,000.00 \$15,000.00 \$15,000.00 \$2,250.00.00 \$2,250.00.00 \$2,250.00.00 \$2,250.00.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$100.00 \$63.50 \$440.00 \$2,600.00 \$36.00 \$12,000.00 \$12,000.00 \$44.00 \$5,500.00 \$4,400.00 \$5,500.00 \$4,400.00 \$6,800.00 \$6,800.00 \$6,800.00 \$6,800.00	\$5,000.00 \$5,360.00 \$12.238 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$1,587.50 \$2,300.00 \$2,600.00 \$31,423.00 \$12,423.00 \$41,423.00 \$12,000.00 \$10,000.00 \$11,000.00	\$50.00 \$67.00 \$11.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$80.00 \$2,600.00 \$41.00 \$2,300.00 \$70.00 \$30.00 \$4,400.00 \$4,700.00 \$6,100.00 \$7,500.00	\$45,000.00 \$5,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$106,030.00 \$1,950.00 \$4,000.00 \$2,600.00 \$700.00 \$6,780.00 \$4,400.00 \$4,700.00 \$1,850.00 \$1,850.00 \$1,850.00 \$1,850.00 \$1,850.00 \$1,850.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$115.00 \$75.00 \$75.00 \$25.00 \$110.00 \$100.00 \$18.00 \$7,000.00 \$3,925.00 \$3,925.00 \$3,925.00	\$45,000.00 \$5,000.00 \$5,000.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$197,750.00 \$106,030.00 \$1,875.00 \$1,750.00 \$1,960.00 \$1,960.00 \$1,000.00 \$4,068.00 \$7,000.00 \$3,925.00 \$11,850.00 \$11,850.00 \$11,755.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement of Conc. Precast Dual Sloped Mountable 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 1 Parallel, Complete 22 Cement Conc. Curb Ramp Type 2 Parallel, Complete 23 Cement Conc. Curb Ramp Type 2 Parallel, Complete 24 Raised Pavement Marker, Type 2	80 12238 449 350 350 10632 2825 922 25 5 1 100 226 1 1 1 1 3 3 3,3,9	HR HR LF CY SY TN SY TN TN TN EA LF EA LF EA LF EA LF LF LF LS EA EA EA HUND EA	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$2,546.33 \$40.18 \$2,263.19 \$55.00 \$40.00 \$4,135.00 \$4,925.00 \$4,925.00 \$4,925.00 \$4,925.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$3,500.00 \$31,896.00 \$211,875.00 \$2,125.00 \$1,875.00 \$2,125.00 \$2,125.00 \$2,145.40 \$2,263.19 \$550.00 \$9,040.00 \$4,135.00 \$41,4775.00 \$11,875.00 \$11,875.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$50.00 \$35.00 \$15,000.00 \$5,000.00 \$5,700.00 \$5,700.00 \$5,700.00 \$2,200.00	\$5,000.00 \$5,360.00 \$122.38 \$26,940.00 \$227.50 \$5,250.00 \$140,249.20 \$1120,782.00 \$1,725.00 \$2,350.00 \$2,350.00 \$15,150.00 \$7,910.00 \$7,910.00 \$15,000.00 \$17,100.00 \$4,600.00 \$17,100.00 \$21,000.00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$63.50 \$460.00 \$2,600.00 \$36.00 \$12,000.00 \$11,000.00 \$4,400.00 \$4,400.00 \$5,500.00 \$4,000.00 \$2,500.00	\$5,000.00 \$5,360.00 \$122.30 \$144.451.00 \$175.00 \$5,600.00 \$37,212.00 \$179,387.50 \$92,200.00 \$11,587.50 \$2,300.00 \$12,423.00 \$360.00 \$112,423.00 \$112,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00 \$110,000.00	\$50.00 \$67.00 \$1175 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$78.00 \$2,600.00 \$411.00 \$2,300.00 \$70.00 \$4,400.00 \$4,700.00 \$6,100.00 \$7,500.00 \$4,750.00 \$4,750.00	\$45,000.00 \$5,000.00 \$5,000.00 \$5,360.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$58,476.00 \$220,350.00 \$106,030.00 \$1,950.00 \$2,600.00 \$700.00 \$6,780.00 \$4,400.00 \$4,400.00 \$4,400.00 \$1,852.50 \$12,900.00 \$1,852.50 \$12,000.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$70.00 \$115.00 \$75.00 \$10.00 \$10.00 \$10.00 \$10.00 \$3,925.00 \$3,925.00 \$3,925.00	\$45,000.00 \$5,000.00 \$5,000.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$197,750.00 \$106,030.00 \$1,875.00 \$2,500.00 \$1,9695.00 \$2,300.00 \$4,068.00 \$7,000.00 \$4,068.00 \$11,755.00 \$11,850.00 \$11,850.00 \$11,755.00
4 Off Duty Uniformed Police Officer 5 Asphalt/Cement Concrete Sawcutting 6 Roadway Excavation Incl. Haul 7 Construction Geosynthetic for Separation 8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul 9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway 12 HMA Class 1/2" PG 64-22 for Preleveling 13 Adjust Existing Monument Case & Cover 14 Removal & Replacement of Beam Guardrail Flared Terminal 15 Removal & Replacement of Beam Guardrail Type 1 16 Removal & Replacement of Beam Guardrail End Section 17 Removal and Replacement of Conc. Precast Sloped Mountable Curb 18 Removal and Replacement Traffic Signal Island, Complete 19 Removal and Replacement Traffic Signal Island, Complete 20 Pedestrian Push Button, Complete 21 Cement Conc. Curb Ramp Type 1 Parallel, Complete 22 Cement Conc. Curb Ramp Type 2 Parallel, Complete 23 Cement Conc. Curb Ramp Type 2 Parallel, Complete 24 Raised Pavement Marker, Type 2 25 Hydrant Marker, Type 2 26 Maintenance Rock for Shoulder Reconstruction, Incl. Haul	80 12238 449 350 350 10632 2825 922 25 5 1 10 226 1 1 1 1 3 3 3 3 3 3 3 3 9 115	HR HR LF CY SY TN SY TN TN TN EA LF EA LF LF EA LF LF LF LS EA EA EA TN	\$50.00 \$67.00 \$0.01 \$85.00 \$10.00 \$10.00 \$75.00 \$100.00 \$75.00 \$425.00 \$425.00 \$40.00 \$6,000.00 \$4,135.00	\$5,000.00 \$5,360.00 \$122.38 \$38,165.00 \$35.00 \$3,500.00 \$31,896.00 \$31,875.00 \$2,125.00 \$2,125.00 \$9,040.00 \$9,040.00 \$4,135.00 \$14,775.00 \$1,875.00 \$1,875.00 \$1,875.00 \$2,125.00 \$1,875.00 \$2,125.00 \$1,875.00	\$50.00 \$67.00 \$0.01 \$60.00 \$0.65 \$15.00 \$4.35 \$69.00 \$131.00 \$69.00 \$2,000.00 \$50.00 \$15,000.00 \$50.00 \$5,700.00 \$5,700.00 \$7,000.00 \$22.00	\$5,000.00 \$5,360.00 \$122.30 \$26,940.00 \$227.50 \$5,250.00 \$46,249.20 \$120,782.00 \$120,782.00 \$2,000.00 \$2,000.00 \$7,910.00 \$5,000.00 \$4,600.00 \$17,100.00 \$21,000.00 \$17,100.00 \$21,000.00 \$3,000.00 \$4,600.00 \$1,00	\$50.00 \$67.00 \$0.01 \$99.00 \$0.50 \$16.00 \$3.50 \$100.00 \$63.50 \$440.00 \$2,300.00 \$36.	\$5,000.00 \$5,360.00 \$12,23 \$44,451.00 \$175.00 \$5,600.00 \$37,212.00 \$17,387.50 \$2,300.00 \$1,587.50 \$2,300.00 \$12,423.00 \$12,003.00 \$360.00 \$11,000.00 \$4,400.00 \$16,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00 \$15,500.00	\$50.00 \$67.00 \$1.75 \$110.00 \$2.25 \$25.00 \$5.50 \$78.00 \$115.00 \$78.00 \$800.00 \$41.00 \$2,300.00 \$41.00 \$30.00 \$4,700.00 \$4,700.00 \$6,100.00 \$7,500.00 \$4,750.00 \$6,100.00 \$7,500.00 \$20.00 \$20.00	\$45,000.00 \$5,000.00 \$5,000.00 \$21,416.50 \$49,390.00 \$787.50 \$8,750.00 \$106,030.00 \$1,950.00 \$4,000.00 \$22,350.00 \$1,950.00 \$2,600.00 \$700.00 \$6,780.00 \$4,400.00 \$5,000.00 \$1,852.50 \$1,852.50 \$120.00	\$50.00 \$50.00 \$67.00 \$0.01 \$105.00 \$20.00 \$3.50 \$77.00 \$350.00 \$2500.00 \$2500.00 \$2,300.00 \$100.00 \$1,300.00 \$3,925.00 \$3,925.00 \$3,925.00 \$4,500.00 \$3,925.00 \$4,500.00	\$45,000.00 \$5,000.00 \$5,000.00 \$122.38 \$47,145.00 \$175.00 \$7,000.00 \$197,750.00 \$106,030.00 \$1,875.00 \$2,500.00 \$1,965.00 \$4,068.00 \$4,068.00 \$5,000.00 \$1,1775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00 \$11,775.00

2017 ASPHALT OVERLAY PROJECT RFB No. 17-003 BID OPENING DATE FEBRUARY 22, 2017

BID OPENING DATE FEBRUARY 22, 2017	1		,	5:3.4		2:10	-	2:10	I =	4		
Vandar Nama			Bid 1 Lakeside Industries, Inc.		Bid 2 Miles Resources, LLC			Bid 3	Bid 4 ICON Materials Tukwila, WA		Engineer Estimate	
Vendor Name> Location>					Puyallup, WA	es, LLC	Tucci and Sons, Inc. Tacoma, WA					
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
	780	LF		\$3,510.00		\$3,900.00	\$5.50		ļ.,,		\$5.00	
30 Profiled Plastic Wide Line 31 Plastic Stop Line	124	LF	\$4.50 \$6.50	\$3,510.00	\$5.00 \$7.15	\$3,900.00	\$5.50 \$10.00	\$4,290.00 \$1,240.00	\$4.50 \$6.50	\$3,510.00 \$806.00	\$5.00 \$5.00	\$3,900.00 \$620.00
32 Plastic Crosswalk Line		LF	\$4.75		\$7.15 \$5.25			\$1,240.00	\$4.75		\$5.00 \$5.00	
33 Plastic Traffic Arrow	550	EA		\$2,612.50	_	\$2,887.50	\$3.30			\$2,612.50		\$2,750.00
33 Plastic Traffic Arrow 34 Sod Lawn, Incl. 4 In Topsoil	15 11	SY	\$125.00 \$50.00	\$1,875.00 \$550.00	\$140.00 \$55.00	\$2,100.00 \$605.00	\$85.00 \$50.00	\$1,275.00 \$550.00	\$125.00 \$60.00	\$1,875.00 \$660.00	\$100.00 \$65.00	\$1,500.00 \$715.00
35 Portable Changeable Message Sign	34	DAY	\$50.00	\$2,550.00	\$55.00 \$94.00	\$3.196.00	\$50.00	\$2,720.00	\$60.00		\$65.00 \$75.00	\$2.550.0
Subtotal Schedule B	34	DAT	\$75.00	\$640,666.19	\$94.00	\$669,487.02	\$60.00	\$607,744.58	\$62.00	\$2,788.00 \$755,964.75	\$75.00	\$636,588.24
Subtotal Scriedule B				\$040,000.19		\$009,467.02		\$607,744.50		\$755,964.75		\$030,300.20
SCHEDULE C - HOYT RD SW (SW 326TH ST TO SW 332ND ST)												
1 Mobilization	1	LS	\$52,000.00	\$52,000.00	\$43,800.00	\$43,800.00	\$32,000.00	\$32,000.00	\$60,000.00	\$60,000.00	\$32,762.96	\$32,762.9
2 Traffic Control Labor	600	HR	\$50.00	\$30,000.00	\$50.00	\$30,000.00	\$50.00	\$30,000.00	\$50.00	\$30,000.00	\$50.00	\$30,000.00
3 Other Traffic Control Labor	50	HR	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$50.00	\$2,500.00
4 Asphalt/Cement Concrete Sawcutting	5438	LF	\$0.01	\$54.38	\$0.01	\$54.38	\$0.01	\$54.38	\$1.75	\$9,516.50	\$0.01	\$54.3
5 Roadway Excavation Incl. Haul	213	CY	\$85.00	\$18,105.00	\$42.00	\$8,946.00	\$84.00	\$17,892.00	\$110.00	\$23,430.00	\$105.00	\$22,365.0
6 Construction Geosynthetic for Separation	300	SY	\$0.10	\$30.00	\$0.65	\$195.00	\$0.50	\$150.00	\$2.25	\$675.00	\$0.55	\$165.0
7 CSTC for Pavement Repair & Roadway Widening, Incl. Haul	250	TN	\$10.00	\$2,500.00	\$15.00	\$3,750.00	\$16.00	\$4,000.00	\$25.00	\$6,250.00	\$20.00	\$5,000.00
8 Planing of Bituminous Pavement	5619	SY	\$3.00	\$16,857.00	\$4.80	\$26,971.20	\$4.60	\$25,847.40	\$5.50	\$30,904.50	\$3.50	\$19,666.5
9 HMA Class 1/2" PG 64-22	1540	TN	\$75.00	\$115,500.00	\$69.00	\$106,260.00	\$64.75	\$99,715.00	\$78.00	\$120,120.00	\$70.00	\$107,800.0
10 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway	450	TN	\$100.00	\$45,000.00	\$131.00	\$58,950.00	\$99.00	\$44,550.00	\$115.00	\$51,750.00	\$115.00	\$51,750.0
11 Adjust Manhole	2	EA	\$525.00	\$1,050.00	\$935.00	\$1,870.00	\$920.00	\$1,840.00	\$1,000.00	\$2,000.00	\$600.00	\$1,200.00
12 Adjust Existing Monument Case & Cover	4	EA	\$425.00	\$1,700.00	\$470.00	\$1,880.00	\$460.00	\$1,840.00	\$800.00	\$3,200.00	\$350.00	\$1,400.0
13 Removal & Replacement of Beam Guardrail Flared Terminal	1	EA	\$2,546.33	\$2,546.33	\$2,000.00	\$2,000.00	\$2,600.00	\$2,600.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
14 Removal & Replacement of Beam Guardrail Type 1	289	LF	\$41.81	\$12,083.09	\$50.00	\$14,450.00	\$42.00	\$12,138.00	\$41.00	\$11,849.00	\$65.00	\$18,785.0
15 Removal & Replacement of Beam Guardrail End Section	1	EA	\$2,263.19	\$2,263.19	\$2,000.00	\$2,000.00	\$2,300.00	\$2,300.00	\$2,300.00	\$2,300.00	\$700.00	\$700.00
16 Removal and Replacement of Conc. Mountable Curb	1245	LF	\$27.50	\$34,237.50	\$17.50	\$21,787.50	\$34.00	\$42,330.00	\$16.00	\$19,920.00	\$24.00	\$29,880.00
17 Cement Conc. Curb Ramp Type 1 Parallel, Complete	1	EA	\$4,135.00	\$4,135.00	\$4,600.00	\$4,600.00	\$4,400.00	\$4,400.00	\$4,700.00	\$4,700.00	\$3,925.00	\$3,925.00
18 Cement Conc. Curb Ramp Type 2 Parallel, Complete	2	EA	\$4,925.00	\$9,850.00	\$5,600.00	\$11,200.00	\$5,500.00	\$11,000.00	\$6,100.00	\$12,200.00	\$3,950.00	\$7,900.00
19 Removal and Replacement of Concrete Sidewalk	29 1.1	SY HUND	\$156.75 \$475.00	\$4,545.75 \$522.50	\$100.00 \$525.00	\$2,900.00 \$577.50	\$6,800.00 \$400.00	\$197,200.00 \$440.00	\$150.00 \$475.00	\$4,350.00 \$522.50	\$115.00 \$485.00	\$3,335.00 \$533.50
20 Raised Pavement Marker, Type 2 21 Hydrant Marker, Type 2B	2	EA	\$25.00	\$50.00	\$30.00	\$60.00	\$10.00	\$20.00	\$25.00	\$50.00	\$30.00	\$60.0
22 Removal and Replacement of Tubular Marker	3	EA	\$100.00	\$300.00	\$150.00	\$450.00	\$120.00	\$360.00	\$140.00	\$420.00	\$85.00	\$255.00
23 Maintenance Rock for Shoulder Reconstruction, Incl. Haul	75	TN	\$40.00	\$3,000,00	\$50.00	\$3,750.00	\$80.00	\$6,000.00	\$60.00	\$4.500.00	\$60.00	\$4.500.0
24 Profiled Plastic Line	4172	LF	\$1.50	\$6,258.00	\$1.65	\$6,883.80	\$1.75	\$7,301.00	\$1.50	\$6,258.00	\$1.50	\$6,258.0
25 Plastic Edge Line	4259	LF	\$1.25	\$5,323.75	\$1.50	\$6,388.50	\$1.30	\$5,536.70	\$1.25	\$5,323.75	\$0.80	\$3,407.20
26 Plastic Crosswalk Line	240	LF	\$4.75	\$1,140.00	\$5.25	\$1,260.00	\$3.30	\$792.00	\$4.75	\$1,140.00	\$6.00	\$1,440.0
27 Sod Lawn, Incl. 4 In Topsoil	10	SY	\$50.00	\$500.00	\$55.00	\$550.00	\$50.00	\$500.00	\$60.00	\$600.00	\$65.00	\$650.00
28 Portable Changeable Message Sign	28	DAY	\$75.00	\$2,100.00	\$94.00	\$2,632.00	\$80.00	\$2,240.00	\$82.00	\$2,296.00	\$75.00	\$2,100.00
Subtotal Schedule C				\$374,151.49		\$366,665.88		\$555,546.48		\$419,375.25		\$360,392.5
SCHEDULE D - SW CAMPUS DR (19TH AVE SW TO 7TH WY SW)												
1 Mobilization	1	LS	\$71,000.00	\$71,000.00	\$54,200.00	\$54,200.00	\$37,000.00	\$37,000.00	\$85,000.00	\$85,000.00	\$46,916.88	\$46,916.88
2 Traffic Control Labor	1050	HR	\$50.00	\$52,500.00	\$50.00	\$52,500.00	\$50.00	\$52,500.00	\$50.00	\$52,500.00	\$50.00	\$52,500.00
3 Other Traffic Control Labor	75	HR	\$50.00	\$3,750.00	\$50.00	\$3,750.00	\$50.00	\$3,750.00	\$50.00	\$3,750.00	\$50.00	\$3,750.00
4 Off Duty Uniformed Police Officer	112	HR	\$67.00	\$7,504.00	\$67.00	\$7,504.00	\$67.00	\$7,504.00	\$67.00	\$7,504.00	\$67.00	\$7,504.0
5 Asphalt/Cement Concrete Sawcutting	2730	LF	\$0.01	\$27.30	\$0.01	\$27.30	\$0.01	\$27.30	\$1.75	\$4,777.50	\$0.01	\$27.30
6 Roadway Excavation Incl. Haul	90	CY	\$135.00	\$12,150.00	\$49.50	\$4,455.00	\$99.00	\$8,910.00	\$110.00	\$9,900.00	\$105.00	\$9,450.0
7 Construction Geosynthetic for Separation	200 200	SY TN	\$0.10 \$10.00	\$20.00 \$2,000.00	\$0.65 \$15.00	\$130.00	\$0.50 \$16.00	\$100.00 \$3,200.00	\$2.25 \$25.00	\$450.00 \$5,000.00	\$0.50 \$20.00	\$100.00
8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul	11490	SY	\$10.00	\$2,000.00 \$34.470.00	\$15.00 \$4.60	\$3,000.00 \$52.854.00	\$16.00 \$3.85	\$3,200.00 \$44,236.50	\$25.00 \$5.50	\$5,000.00 \$63.195.00	\$20.00 \$3.50	\$4,000.00 \$40.215.00
9 Planing of Bituminous Pavement 10 HMA Class 1/2" PG 64-22	2730	TN	\$75.00	\$34,470.00	\$4.60 \$69.70	\$52,854.00 \$190,281.00	\$3.85 \$65.50	\$44,236.50 \$178,815.00	\$5.50 \$78.00	\$63,195.00	\$3.50 \$70.00	\$40,215.00
11 HMA Class 1/2" PG 64-22 11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway	185	TN	\$100.00	\$204,750.00	\$69.70 \$167.00	\$190,281.00	\$65.50 \$101.50	\$178,815.00	\$78.00 \$115.00	\$212,940.00	\$70.00 \$115.00	\$191,100.00
12 Adjust Manhole	11	EA	\$525.00	\$5,775.00	\$935.00	\$10,285.00	\$920.00	\$10,120.00	\$1,000.00	\$11,000.00	\$560.00	\$6,160.0
13 Adjust Catch Basin	1	EA	\$525.00	\$525.00	\$580.00	\$580.00	\$920.00	\$920.00	\$1,000.00	\$1,000.00	\$560.00	\$560.00
14 Repair or Re-align Manhole	1	EA	\$1,000.00	\$1,000.00	\$1,150.00	\$1,150.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.0
15 Repair or Re-align Marinole	2	EA	\$1,000.00	\$2,000.00	\$1,150.00	\$2,300.00	\$650.00	\$1,300.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.0
16 Adjust Existing Monument Case & Cover	5	EA	\$425.00	\$2,125.00	\$470.00	\$2,350.00	\$460.00	\$2,300.00	\$800.00	\$4,000.00	\$350.00	\$1,750.0
17 Removal and Replacement of Concrete Curb and Gutter	126	LF	\$51.15	\$6,444.90	\$63.00	\$7,938.00	\$65.00	\$8,190.00	\$80.00	\$10,080.00	\$65.00	\$8,190.0
18 Removal and Replacement of Extruded Curb Type 6	80	LF	\$25.00	\$2,000.00	\$26.00	\$2,080.00	\$35.00	\$2,800.00	\$24.00	\$1,920.00	\$15.00	\$1,200.0
19 Removal and Replacement of Concrete Sidewalk	24	SY	\$156.75	\$3,762.00	\$112.00	\$2,688.00	\$150.00	\$3,600.00	\$150.00	\$3,600.00	\$115.00	\$2,760.00
			Ţ.000	\$0,702.00	Ţ <u>=</u> .50	72,000.00	Ţ.00.00	20,000.00	ψ.00.00	+5,000.00	ŢO	ΨΞ,7 00.00

2017 ASPHALT OVERLAY PROJECT RFB No. 17-003 BID OPENING DATE FEBRUARY 22, 2017

BID OPENING DATE FEBRUARY 22, 2017			Bid 1		Bid 2		Bid 3		Bid 4		Engineer	
Vendor Name>				ndustries, Inc.	Miles Resource		Tucci and Son		ICON Materials Tukwila, WA		Estimate	
Location>				gton, WA			Tacoma, WA	3, 1110.			Lott	mate
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
	1	LS	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00		\$10,000.00		\$5,000.00		\$7,000.00
20 Pedestrian Push Button Pole Installation, Complete	5	EA	\$4,135.00	\$20,675.00	\$3,800.00	\$19,000.00		\$22,000.00		\$23,500.00	\$3,925.00	\$19,625.00
21 Cement Conc. Curb Ramp Type 1 Parallel, Complete												
22 Cement Conc. Curb Ramp Type 2 Parallel, Complete	6	EA	\$4,925.00	\$29,550.00	\$5,600.00	\$33,600.00		\$33,000.00		\$36,600.00	\$3,950.00	\$23,700.00
23 Cement Conc. Curb Ramp Type Single Direction	1	EA	\$5,225.00	\$5,225.00	\$6,900.00	\$6,900.00		\$6,800.00		\$7,500.00	\$3,925.00	\$3,925.00
24 Removal and Replacement of Pedestrian Refuge Island, Complete	1	LS	\$6,510.00	\$6,510.00	\$6,650.00	\$6,650.00		\$12,000.00		\$9,000.00	\$6,000.00	\$6,000.00
25 Raised Pavement Marker, Type 2	4.7	HUND	\$475.00	\$2,232.50	\$525.00	\$2,467.50		\$1,880.00		\$2,232.50	\$450.00	\$2,115.00
26 Hydrant Marker, Type 2B	5	EA	\$20.00	\$100.00	\$30.00	\$150.00		\$50.00		\$100.00		\$100.00
27 Detector Loop	22	EA	\$600.00	\$13,200.00	\$900.00	\$19,800.00		\$12,320.00		\$15,400.00		\$13,200.00
28 R9-3A Sign and Post	2	EA	\$500.00	\$1,000.00	\$400.00	\$800.00		\$1,000.00		\$1,000.00	\$100.00	\$200.00
29 Profiled Plastic Line	15105	LF	\$1.50	\$22,657.50	\$1.65	\$24,923.25		\$26,433.75		\$22,657.50	\$1.50	\$22,657.50
30 Profiled Plastic Wide Line	715	LF	\$4.50	\$3,217.50	\$5.00	\$3,575.00		\$3,932.50		\$3,217.50	\$5.00	\$3,575.00
31 Plastic Stop Line	70	LF	\$6.50	\$455.00	\$7.15	\$500.50		\$700.00		\$455.00		\$350.00
32 Plastic Crosswalk Line	1090	LF	\$4.75	\$5,177.50	\$5.25	\$5,722.50		\$3,597.00		\$5,177.50		\$5,450.00
33 Plastic Traffic Arrow	22	EA	\$125.00	\$2,750.00	\$140.00	\$3,080.00		\$1,870.00		\$2,750.00	\$100.00	\$2,200.00
34 Plastic Yield Line Symbol	14	EA	\$75.00	\$1,050.00	\$85.00	\$1,190.00		\$700.00		\$1,050.00		\$630.00
35 Plastic Traffic Letter	12	EA	\$45.00	\$540.00	\$50.00	\$600.00		\$780.00		\$540.00		\$900.00
36 Sod Lawn, Incl. 4 In Topsoil	20	SY	\$50.00	\$1,000.00	\$55.00	\$1,100.00		\$1,000.00		\$1,200.00	\$65.00	\$1,300.00
37 Portable Changeable Message Sign	36	DAY	\$75.00	\$2,700.00	\$94.00	\$3,384.00		\$2,880.00		\$2,952.00	\$75.00	\$2,700.00
Subtotal Schedule D				\$557,343.20		\$567,410.05	5	\$525,643.55	i i	\$641,223.50		\$516,085.68
SCHEDULE E - SW 336TH WY (30TH AVE SW TO 25TH PL SW)												
1 Mobilization	1	LS	\$53,000.00	\$53,000.00	\$43,900.00	\$43,900.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00	\$28,611.96	\$28,611.96
2 Traffic Control Labor	620	HR	\$50.00	\$31,000.00	\$50.00	\$31,000.00	\$50.00	\$31,000.00	\$50.00	\$31,000.00	\$50.00	\$31,000.00
3 Other Traffic Control Labor	50	HR	\$50.00	\$2,500.00	\$50.00	\$2,500.00		\$2,500.00		\$2,500.00	\$50.00	\$2,500.00
4 Off Duty Uniformed Police Officer	48	HR	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00
5 Asphalt/Cement Concrete Sawcutting	3260	LF	\$0.01	\$32.60	\$0.01	\$32.60		\$32.60		\$5,705.00		\$32.60
6 Roadway Excavation Incl. Haul	115	CY	\$110.00	\$12,650.00	\$77.50	\$8,912.50	\$155.00	\$17,825.00	\$110.00	\$12,650.00	\$105.00	\$12,075.00
7 Construction Geosynthetic for Separation	200	SY	\$0.10	\$20.00	\$0.65	\$130.00		\$100.00		\$450.00	\$0.50	\$100.00
8 CSTC for Pavement Repair & Roadway Widening, Incl. Haul	100	TN	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$16.00	\$1,600.00		\$2,500.00	\$20.00	\$2,000.00
9 Planing of Bituminous Pavement	5760	SY	\$3.00	\$17,280.00	\$4.60	\$26,496.00	\$4.30	\$24,768.00	\$5.50	\$31,680.00	\$3.50	\$20,160.00
10 HMA Class 1/2" PG 64-22	1520	TN	\$75.00	\$114,000.00	\$68.50	\$104,120.00		\$98,800.00		\$118,560.00		\$106,400.00
11 HMA Class 1/2" PG 64-22 for Pavement Repair & Roadway	250	TN	\$100.00	\$25,000.00	\$150.00	\$37,500.00	\$123.00	\$30,750.00	\$115.00	\$28,750.00	\$115.00	\$28,750.00
12 Adjust Manhole	7	EA	\$525.00	\$3,675.00	\$935.00	\$6,545.00		\$6,440.00	\$1,000.00	\$7,000.00		\$3,920.00
13 Adjust Catch Basin	2	EA	\$525.00	\$1,050.00	\$580.00	\$1,160.00	\$920.00	\$1,840.00		\$2,000.00	\$560.00	\$1,120.00
14 Repair or Re-align Manhole	1	EA	\$1,000.00	\$1,000.00	\$1,150.00	\$1,150.00		\$650.00		\$1,000.00		\$1,000.00
15 Repair or Re-align Catch Basin	2	EA	\$1,000.00	\$2,000.00	\$1,150.00	\$2,300.00		\$1,300.00		\$2,000.00	\$1,000.00	\$2,000.00
16 Adjust Existing Monument Case & Cover	10	EA	\$425.00	\$4,250.00	\$470.00	\$4,700.00	\$460.00	\$4,600.00	\$800.00	\$8,000.00	\$350.00	\$3,500.00
17 Removal and Replacement of Concrete Sidewalk	26	SY	\$156.75	\$4,075.50	\$110.00	\$2,860.00		\$3,900.00		\$3,900.00	\$115.00	\$2,990.00
18 Removal and Replacement of Pedestrian Refuge Island, Complete	1	LS	\$4,300.00	\$4,300.00	\$6,650.00	\$6,650.00		\$12,000.00		\$9,000.00	\$6,000.00	\$6,000.00
19 Removal of Existing RRFB's Foundation	1	EA	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00		\$2,000.00		\$900.00	\$1,000.00	\$1,000.00
20 Cement Conc. Curb Ramp Type 1 Parallel, Complete	4	EA	\$3,860.00	\$15,440.00	\$4,400.00	\$17,600.00		\$17,600.00		\$18,800.00	\$3,925.00	\$15,700.00
21 Cement Conc. Curb Ramp Type 2 Parallel, Complete	4	EA	\$4,135.00	\$16,540.00	\$5,600.00	\$22,400.00		\$22,000.00		\$24,400.00	\$3,950.00	\$15,800.00
22 Cement Conc. Curb Ramp Type Single Direction	1	EA	\$4,925.00	\$4,925.00	\$6,900.00	\$6,900.00		\$6,800.00		\$7,500.00	\$3,925.00	\$3,925.00
23 Raised Pavement Marker, Type 2	2.7	HUND	\$475.00	\$1,282.50	\$525.00	\$1,417.50		\$1,080.00		\$1,282.50	\$450.00	\$1,215.00
24 Hydrant Marker, Type 2B	5	EA	\$20.00	\$100.00	\$30.00	\$150.00		\$50.00		\$100.00		\$100.00
25 Profiled Plastic Line	9364	LF	\$1.50	\$14,046.00	\$1.65	\$15,450.60		\$16,387.00		\$14,046.00	\$1.50	\$14,046.00
26 Plastic Crosswalk Line	80	LF	\$4.50	\$360.00	\$5.00	\$400.00		\$264.00		\$360.00	\$5.00	\$400.00
27 Profiled Plastic Wide Line	286	LF	\$4.50	\$1,287.00	\$5.00	\$1,430.00		\$1,573.00		\$1,287.00		\$1,430.00
28 Plastic Stop Line	18	LF	\$6.50	\$117.00	\$7.15	\$128.70		\$180.00		\$117.00		\$90.00
29 Plastic Traffic Arrow	13	EA	\$125.00	\$1,625.00	\$140.00	\$1,820.00		\$1,105.00		\$1,625.00	\$100.00	\$1,300.00
30 Sod Lawn, Incl. 4 In Topsoil	30	SY	\$50.00	\$1,500.00	\$55.00	\$1,650.00		\$1,500.00		\$1,800.00		\$1,950.00
31 Portable Changeable Message Sign	32	DAY	\$75.00	\$2,400.00	\$94.00	\$3.008.00		\$2,560.00		\$2.624.00		\$2,400.00
Subtotal Schedule E	02	D/(1	ψ, σ.σσ	\$341,171.60		\$359,026.90		\$339,420.60		\$379,752.50		\$314,731.56
				40 11,11 1.00		Ţ030,0 <u>L</u> 0.00		4530,720.00	1	ÇU. 0,1 02.00		40.4,701.00
SCHEDULE F - SW 330TH ST (7TH CT SW TO 1ST AVE S)			1		I		I		1			
	-	10	#E0.000.00	ФЕО ООО ОО	#00 F00 00	#00 F00 00	610,000,00	Φ40 000 00	#00 000 00	#00.000.00	017 70F 40	ф47 70F 11
1 Mobilization	1 450	LS	\$50,000.00	\$50,000.00	\$28,500.00	\$28,500.00		\$19,000.00		\$30,000.00		\$17,705.42 \$22,500.00
2 Traffic Control Labor	450	HR	\$50.00	\$22,500.00	\$50.00	\$22,500.00		\$22,500.00		\$22,500.00		, , ,
3 Other Traffic Control Labor	50	HR	\$50.00	\$2,500.00	\$50.00	\$2,500.00		\$2,500.00		\$2,500.00		\$2,500.00
4 Off Duty Uniformed Police Officer	48	HR	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00	\$67.00	\$3,216.00

2017 ASPHALT OVERLAY PROJECT
RFB No. 17-003
BID OPENING DATE FEBRUARY 22, 2017

BID OPENING DATE FEBRUARY 22, 2017				Bid 1	Bid 2		Bid 3		Bid 4		Engineer	
Vendor Name>			Lakeside Industries, Inc.		Miles Resources, LLC		Tucci and Sons. Inc.		ICON Materials		Estimate	
Location>					Puyallup, WA	-,	Tacoma, WA	,	Tukwila, WA			
Item	Amount	Unit	Price	Total	Price	Total	Price	Total	Price	Total	Price	Total
5 Asphalt/Cement Concrete Sawcutting	700	LF	\$0.01	\$7.00	\$0.01	\$7.00	\$0.01	\$7.00	\$1.75	\$1,225.00	\$0.01	\$7.00
6 Planing Bituminous Pavement	8095	SY	\$3.00	\$24,285.00	\$4.50	\$36,427.50	\$4.05	\$32,784.75	\$5.50	\$44,522.50	\$3.50	\$28,332.50
7 HMA Class 1/2" PG 64-22	1170	TN	\$75.00	\$87,750.00	\$71.25	\$83,362.50	\$69.50	\$81,315.00	\$78.00	\$91,260.00	\$70.00	\$81,900.00
8 HMA Class 1/2" PG 64-22 for Traffic Circle Apron	32	TN	\$100.00	\$3,200.00	\$125.00	\$4,000.00	\$110.00	\$3,520.00	\$115.00	\$3,680.00	\$126.00	\$4,032.00
9 Raised Crosswalk, Complete	1	EA	\$3,750.00	\$3,750.00	\$6,250.00	\$6,250.00	\$10,000.00	\$10,000.00	\$5,600.00	\$5,600.00	\$3,500.00	\$3,500.00
10 Removal and Replacement of Pedestrian Refuge Island, Complete	1	LS	\$6,510.00	\$6,510.00	\$6,650.00	\$6,650.00	\$12,000.00	\$12,000.00		\$9,000.00	\$6,000.00	\$6,000.00
11 Removal and Replacement of Concrete Sidewalk	20	SY	\$156.75	\$3,135.00	\$135.00	\$2,700.00	\$150.00	\$3,000.00		\$3,000.00	\$115.00	\$2,300.00
12 Raised Pavement Marker, Type 2	3.7	HUND	\$450.00	\$1,665.00	\$525.00	\$1,942.50	\$400.00	\$1,480.00	\$450.00	\$1,665.00	\$450.00	\$1,665.00
13 Hydrant Marker, Type 2B	4	EA	\$20.00	\$80.00		\$120.00	\$10.00	\$40.00		\$80.00	\$20.00	\$80.00
14 Profiled Plastic Line	6960	LF	\$1.50	\$10,440.00		\$11,484.00	\$1.75	\$12,180.00		\$10,440.00	\$1.50	\$10,440.00
15 Plastic Edge Line	408	LF	\$1.50	\$612.00		\$673.20	\$1.30	\$530.40	\$1.50	\$612.00	\$1.40	\$571.20
16 Profiled Plastic Wide Line	97	LF	\$4.50	\$436.50		\$485.00	\$5.50	\$533.50	\$4.50	\$436.50	\$5.00	\$485.00
17 Plastic Crosswalk Line	400	LF	\$4.50	\$1,800.00		\$2,000.00	\$3.30	\$1,320.00	\$4.50	\$1,800.00	\$5.00	\$2,000.00
18 Plastic Stop Line	24	LF	\$6.50	\$156.00		\$171.60	\$10.00	\$240.00		\$156.00	\$5.00	\$120.00
19 Plastic Dotted Extended Line	224	LF	\$1.00	\$224.00	\$1.10	\$246.40	\$5.00	\$1,120.00		\$224.00	\$5.00	\$1,120.00
20 Plastic Traffic Arrow	8	EA	\$125.00	\$1,000.00	\$140.00	\$1,120.00	\$90.00	\$720.00		\$1,000.00	\$100.00	\$800.00
21 Plastic Yield Line	32	EA	\$75.00	\$2,400.00		\$2,720.00	\$50.00	\$1,600.00	\$75.00	\$2,400.00	\$75.00	\$2,400.00
22 Asphalt Apron Painting	841	SF	\$2.50	\$2,102.50		\$2,312.75	\$1.00	\$841.00	\$2.50	\$2,102.50	\$1.50	\$1,261.50
23 Sod Incl. 4" Topsoil	12	SY	\$50.00	\$600.00	\$55.00	\$660.00	\$50.00	\$600.00	\$60.00	\$720.00	\$52.00	\$624.00
24 Portable Changeable Message Sign	16	DAY	\$75.00	\$1,200.00	\$94.00	\$1,504.00	\$80.00	\$1,280.00	\$82.00	\$1,312.00	\$75.00	\$1,200.00
Subtotal Schedule F				\$229,569.00		\$221,552.45		\$212,327.65		\$239,451.50		\$194,759.62
TOTAL				\$2,533,781.50		\$2,570,181.52		\$2,639,865.38		\$2,914,204.00		\$2,392,689.51
Addendum are acknowledged			`	YES	Y	ΈS	Y	ES		YES		
Bid Signature Page				YES		ΈS	YES		YES			
Bid Bond			,	YES	Y	ΈS	Y	ES		YES		
Combined Affidavit				YES		ΈS	Y	ES		YES		
Contractors Compliance Statement			,	YES	Y	ΈS	Y	ES		YES		